Moltiplicare per potenze di dieci ( numero mancante

)

=76.85

2,941 x

=2941

9,461 x

=94.61

7,024 x

= 7024

9,358 x

=935.8

5,975 %

=59.75

10, 322 x

5,789 x

= 10322

=578.9

5,272 X

=527.2

9,763 x

= 9763

Data: Punteggio:

2,038 x = 2038

1,478 x = 14.78
4,816 x = 481.6
5,174 x = 5174

8, 581 x = 85.81
8,703 x =870.3
8, 841 x = 8841

6, 496 = 649.6
2,466 % = 246.6
3,457 x =34.57
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Moltiplicare per potenze di dieci ( numero mancante

)

Nome: Data: Punteggio:
7,685 x 10 = 76.85 2,038 x 1000 = 2038
2,941 x 10 =29.41 1,478 x 10 = 14.78
9,461 x 10 =94.61 4,816 x 100 = 481.6
7,024 x 1000 = 7024 5,174 x 1000 = 5174
9,358 x 100 =935.8 8,581 x 10 = 85.81
5,975 x 10 =59.75 8,703 x 100 = 870.3
10, 322 x 1000 = 10322 8, 841 x 1000 = 8841
5,789 x 100 = 578.9 6,496 x 100 = 649.6
5,272 x 100 = 527.2 2,466 x 100 = 246.6
9,763 x 1000 = 9763 3,457 x 10 = 34.57
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